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[2] ��� 2 �� �� # ��$ � �

[3] ��� ��� # �� $� � �

[4] � �3��� � ��� #��$ � �

  

�� A type of intelligence test in which 

the difficulty level of questions 

gradually increases and the time 

factor is secondary : 

[1] Verbal Test  

[2] Power Test 

[3] Speed Test  

[4] Performance Test 

"�� � 	 � ��� ��$ �45 �6� �' � 70 8 -� �� �� � &
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' 8 -% � �	 
# � �� 3�0 � 	 #� 5 ��# � 
 '>� 	 �� �
� � -� � � � �� �� � 	 � � �� �� � �� � �9� � �� 	 � �� 	 #�

# �� �� � 	 #� ��� �� �6�0 �� � �	 � �� �0�� �� 	 � �� � -. �� � �

[1]� � - 4
� � � � #� 5 �6� �' �

[2]� � �� ��� ��$ � �

[3]� 
 -	 � � #� 5 �6��' �

[4]� 5 � �� * �' �� 5 �6��'�

  
"�� A teaching-learning strategy in 

which small groups of students with 

different level of ability use a variety 

of learning activities to improve their 

understanding of a subject : 

[1] Multi-sensory learning 

[2] Team teaching 

[3] Co-operative learning 

[4] Programmed learning 

��� 
�� . � �� � 	 � � 70 �2 �? �� � �# �	 � $ �%� 70� 2� ?� �
5 �	 ���	 � � �	 
� ����'� 
� � 
� � � �6�� � -. � @ �
�

[1] ��# �� $ �� ��� �'�

[2] �� 	 �� � ����'�

[3] ' 8 �� �� � A �� � �� �� �'�

[4] ' �� � �� �� � 3�$ � �� �� �'�

  
��� Spranger's classification of 

personality is related to which 

approach of personality assessment ? 

[1] Trait Approach�

[2] Type Approach�

[3] Instinct Approach�

[4] Psychoanalytic Approach�
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[1] 	 � � �� �	 � �  �� 0� �' � � �� -���

[2] &# �� � '� � � 
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[3] 5 ��# ��� '� �5 � �� � � �� � 
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  #�� Which of the following is not a 

symptom of good mental health of 

students ? 

[1] Living in fantasy world 

[2] Balance in life 

[3] Knowledge of our potentials and 

limitations 

[4] Free from undesirable worries 

$�� D&� � � 	 � �	 �� �� � � 5 ��� � '� �� 4� �� � � �� � * �� 6��
�� � ��� � � ' � � � 5 
' / �� � -�� � �� -. %� �� � � �-� 5 ��� �
* � � 6�� 5 �� � � < �� = � � � ��) � � �� � ��	 =� 	 � � �� � �� -. !E�
0 -� �	 
 � �� 	 �� � 	 #� � �� �?' 	 � 0  �2 � � 	 � � � 	�
� �� -� $ �� -. �@ �

[1] � '� � � �

[2] �� �� �' � �

[3] �� ��� �$ �� �

[4] � �
/ � ����

  
$�� 'When an adolescent is unable to 

show anger to his parents, then he 

shows his anger to his younger 

brother.' This is an example of which 

type of defence mechanism ? 

[1] Repression  

[2] Regression  

[3] Projection  

[4] Displacement 

%�� ��0 �&� � 	 � � 
� C ��� ?'	 � ��	 �
 � � 
" �� � � 	� �
5 � 
 �� %� D
� C �� �?' 	� 
�� �� �� 	 #� �-�
' 8� � �8 � � ) 	 � )�% � &� � � �	 
# � 
� C �� �?' 	 � 70� -�� �
	 � � �* 0 �9� 0� � '�� � '� � � 	 ��# � -. E%� 	 -�� �#�
-. �� �

[1] 
 -&� �� �A � � �0 �F � �

[2] ' 8 �� �� � A �� � 0�F�

[3] 
	 # '�� �

[4] 
 �� �� $� ����

  
%�� According to Piaget's Cognitive 

Development Theory, 'The basic unit 

of the cognitive structure that helps 

in the implementation of cognitive 

behaviour', is termed as : 

[1] Reflexes  

[2] Basic Instincts 

[3] Schema  

[4] Conservation 
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  ��� "Emotional Intelligence may be 

defined as the capacity to reason with 

emotion in four areas – to perceive 

emotion, to integrate it in thought, to 

understand it and to manage it."  

Who gave this definition of 

emotional intelligence ? 

[1] Daniel Goleman 

[2] Mayer and Peter Salovey 

[3] Peter and Michael 

[4] Halverson 
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  &�� Which one of the following is not a 

direct method for measurement of 

attitude ? 

[1] Interview  

[2]  Projection 

[3] Questionnaire  

[4]  Observation 
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  ��� 'A horse can be brought near water, 

but cannot be forced to drink.' This 

statement reveals the truth of 

Thorndike's which law of learning ? 

[1] Law of Readiness 

[2] Law of Exercise 

[3] Law of Effect 

[4] Law of Multi Responses 


'�� �� �� ��� �� �� '� � � 
 � � 	 � . �4
�� ��� ��$ �� 	 �� 
 �� �
� -# �� -# �� -# �� -# � �-. � @�
[1] 5 � 6��� � � 8� � 
�� �
[2] 
' A �� �
� � �
[3] 5 � �� � 6�� 
�� �
[4] � �� �� � 
�� �

  
'�� Which of the following is not a level 

of teaching ? 

[1] Basic Level 

[2] Memory Level 

[3] Understanding Level 

[4] Reflective Level 
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�� Which one of the following is not a 

part of Bronfenbrenner's Ecological 

System theory ? 

[1] Micro system   

[2]  Macro system 

[3] Minor system   

[4]  Meso system 
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"�� Which pair is not correct with reference 

to emotions and basic instincts ? 

 Emotion  Basic Instinct 

[1] Anger – Repulsion 

[2] Ownership – Collection 

[3] Wonder – Curiosity 

[4] Fear – Escape 
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��� Which way is the most appropriate 

for social development of 

adolescents ? 

[1] Discussion on socialization 

[2] Essay competition on social values 

[3] Organizing group activities 

[4] Documentary on social relations 
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#�� According to Maslow's Need 

Hierarchical theory, 'Esteem Needs' 

are which type of need ? 

[1] Personal  

[2] Social 

[3] Intellectual  

[4] Emotional 
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$�� Which of the following task is not 

related to Baqer Mehdi's test of 

Creativity ? 

[1] Unusual uses related task 

[2] New relation between pairs 

related task 

[3] Product improvement related 

task 

[4] Ask and guess related task 
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%�� Which of the following statement is 

not correct with reference to 

individual   differences ? 

[1] No two persons can be exactly 

alike. 

[2] Individual differences may 

belong to different areas. 

[3] Individual differences affects 

different dimensions of 

development. 

[4] Individual differences arises 

only due to heredity. 
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��� Who is called the father of Trait 

Theory for study of personality ? 

[1] Allport  

[2] Woodworth 

[3] McDougall  

[4] Eysenck 



������ ��&���

����	
���
�� � �


&�� 
���� 3�$�� 	�. ������� 	�� ����������� 0 :'���� '��� 
��
	�.�4
��
8�������L��	��� �-� � � 
-#
-#
-#
-#�-.�@�
�

[1] 
  � �� � 5� . � �� �� ����

[2] � �� �� �� 5 �. � � �+ , ���

[3] 
  � �� � 5� . � ��+, � ��

[4] � �� �� �� 5 �. � � ��� �� ��

  
&�� Which of the following pairs of 

communication skills is correct for 

receiving the information ? 

[1] Listening and Writing 

[2] Speaking and Reading 

[3] Listening and Reading�

[4] Speaking and Writing�
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��� According to Triarchic Theory, 

which of the following is not a type 

of intelligence ? 

[1] Analytical  

[2] Creative 

[3] Theoretical  

[4] Practical 
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  "'�� According to Kohlberg's theory, 

what level of morality is it, when 

morality includes self-accepted 

moral principles ? 

[1] Pre-conventional  

[2] Conventional  

[3] Post-conventional 

[4] None of these 
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  "
�� Which of the following is not a general 

characteristic of adolescence period ? 

[1] It is a transitional period. 

[2] It is period of unrealism. 

[3] It is time for search of identity. 

[4] It is the threshold of puberty. 
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  ""�� Who developed the Thematic 

Apperception Test for personality 

assessment ? 

[1] Murray and Morgan 

[2] Bellack 

[3] Eysenck 

[4] Allport and Cattell 
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  "��� What type of reinforcement schedule is 

it, when reinforcement is provided to 

the learner only after a certain number 

of responses ? 

[1] Fixed ratio 

[2] Variable ratio 

[3] Fixed interval 

[4] Variable interval 
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  "#�� According to the moral development 

theory of Piaget, adolescence period 

is : 

[1] Stage of moral realism 

[2] Stage of morality constraint 

[3] Stage of heteronomous morality 

[4] Stage of autonomous morality 
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  "$�� Which of the following factors 

positively affects learning ? 

[1] Meaningless content 

[2] Lack of maturation 

[3] Lack of motivation 

[4] Informational feedback  
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  "%�� Rohit helps others to get praise. This 

is an example of : 

[1] Intrinsic Motivation 

[2] Extrinsic Motivation 

[3] Innate Motivation 

[4] None of these 
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  "��� What will be the intelligence 

quotient of a 15 year old boy, when 

his mental age is 12 ? 

[1] 80 [2] 90 

[3] 100 [4] 110 
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  "&�� As a teacher which of the following 

work would not be done by you to 

develop the creativity of the students ? 

[1] Encouragement of originality 

[2] Removal of fear 

[3] Freedom to respond 

[4] Avoidance of divergent thinking 
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"��� Development which proceeds from 

'centre to the periphery', is known as : 

[1] Cephalic Caudal 

[2] Proximodistal 

[3] Spiral�

[4] Circular�
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  �'�� Hunger and Thirst is which type of 

motive ? 

[1] Extrinsic [2]  Acquired 

[3] Intrinsic [4]  Social 
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[1] !
���+�
���!���@�!	
���+�!���'�

[2] !%���+��%A@�!%2��+�BC��

[3] !%�(���+�!D�2�@�!%�(���+��%,'
��E�

[4] 5
���+�"	*�%@��
���+��%����

�"�� �!��� 2%F�� !
.
� *������� �
'�&� 
�;'� 2���
��'%;�� 8*������:� ��?
� ��.�+!�� !�G�� ���
�
�� ,��������4�

[1] !2%
�'
�#��!�G��

[2] ����
�#��!�G��

[3] ���

�#��!�G��

[4] H'�;�
�#��!�G��

�#�� 9�2���!����.�+!��
�;'����%I���%I���%I���%I��.�4�

[1] �%��� ��H'
�� �!
�>��J��.&�

[2] �2�!����2���2�%�'��
%"�����6��.�&�

[3] 
����6
�!���C������ � ����.&�

[4] ���������������'��3'���� ��
���.&�

���� ��!� ��?
� 2��� ��� !�� ��*��� ��!���K� ���
��'�����%����.�4�

[1] �*'���� [2] �	
���,��

[3] ��%�J��� [4] H'��*��



����� ��� ���

����	
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��� � �

�$�� !2�!����
(��)�!���!����!����!����!�����
�$��#%������

[1] ������� +� �2�*�� '�

[2] !�#
��'� +� �D�%/���

[3] #�. ���� +� �L�%�

[4] ����J� +� "�%
�����

�
�� ��!��
�$��2����
!���!�	*�������'�����%���
�.�4�

[1] '%�*���J �

[2] 
'��
(I�

[3] � ���
����

[4] ���J% �

!%�� ��?
������ 2��� 
,����%<2� ��� 
(��)� !�� 8>I�:�
��?
�9�2���!����!���?
���������������4�

[1] ���.'��

[2] �'�2�

[3] M��(�� �

[4] >�2��

!��� �
���2����
(��)�!���!����!����!����!�����
�$��#%������

[1] ��D'��� +� ��*�D'���

[2] �	2%��� +� ����2%���

[3] �$���� +� '=��=���

[4] �%D!�� +� �����!��

! �� 9�2��� !�� ��!� ��?
� 2��� 8��
):� ��D''� ���
��'����������������������%����.�4�

[1] �% ���)� [2] !��
)�

[3] "%��
)� [4] � �
)�

!��� �N#� ,�����
(��)�!��8�:�
,�������N#� ,��
5=������������

[1] ����J�

[2] 2C*����

[3] ���%�

[4] 
	��

!!�� 8���%:���?
�!�����2����
�����,���.���

[1] �����
��

[2] ���%����

[3] ���%���

[4] ���%D
�

!"�� 8�D!2+�
E��
:����
(��)�!���!����!����!����!���� �
�$��
#%������

[1] ���2���� +� ���201��

[2]  O�%� +�  5!��

[3] �����,�� +� �D=� �

[4] 25��� +� 2�=���
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���� Which of the following options 

express the correct meaning of the 

sentence given below ? 

He is too cute to overlook. 

[1] He is too cute and he can be 

overlooked.  

[2] He is too cute but he can be 

overlooked.  

[3] He is so cute that he cannot be 

overlooked.  

[4] Although he is not cute, but he 

cannot be overlooked. �

���� Change the narration : 

Kavin said to Mr. Cowper, "Please, 

be kind to me." 

[1] Kavin requested Mr. Cowper to 

be kind to him. 

[2] Kavin requested Mr. Cowper to 

be kind to me. 

[3] Kavin asked Mr. Cowper to be 

please kind to me. 

[4] Kavin asked Mr. Cowper that he 

must be kind to him.�

���� Fill in the blank with the correct 

form of verb : 

You had better …………. your 

hands before you eat. 

[1] been washing 

[2] washing 

[3] washed  

[4] wash�

�
�� The word 'garrulous' means : 

[1] talkative [2] abusive 

[3] violent [4] abundant�

���� Arrange the following jumbled 

options in the correct order and then 

choose the correct option : 

(i) too many (ii) spoil 

(iii) the broth (iv) cooks 

[1] (i), (iv), (iii), (ii)  

[2] (i), (iv), (ii), (iii)  

[3] (iii), (iv), (ii), (i)  

[4] (iv), (ii), (i), (iii) �

���� Fill in the blank with the correct 

option : 

Let us stay here, while it ……….. . 

[1] is raining 

[2] was raining 

[3] has been raining 

[4] had been raining�

� �� Choose the part of the sentence that 

is grammatically incorrect : 

The thief took towards/his heels/on 

seeing/the Police-van arrive. 

[1] The thief took towards 

[2] his heels 

[3] on seeing 

[4] the Police-van arrive.�
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���� Choose the part of the sentence that 

is grammatically incorrect : 

He has committed / a blunder / 

mistake / today morning. 

[1] He has committed 

[2] a blunder 

[3] mistake 

[4] today morning.�

���� Fill in the blank with the correct 

form of verb : 

Neither you nor she ……....... made 

the mistake. 

[1] have [2] has 

[3] had [4] did�

���� Fill in the blank with correct 'Modal 

Auxiliary' : 

Passengers ………… not walk 

across the railway line. 

(Prohibition) 

[1] should [2] can 

[3] need [4] must�

���� Choose the correct passive of the 

given sentence : 

 Did he kill a lion ? 

[1] Did a lion killed by him ?  

[2] Was a lion killed by you ?  

[3] Was a lion killed by him ?  

[4] Had a lion been killed by you ?�

���� Fill in the blank with the correct 

option : 

Mr. Sudhir Soni is ……….. R. A. S. 

Officer. 

[1] an [2] a 

[3] the [4] ×�

���� Fill in the blank with the correct 

option that completes the idiom : 

A rolling stone ………. . 

[1] carries rough winds 

[2] kills no one 

[3] gathers no sauce 

[4] gathers no moss�

�
�� Fill in the blank with the correct 

option : 

When Monisha reached the bus 

stand, the bus ……….. . 

[1] was already left 

[2] had already left 

[3] already left 

[4] has been already left�

���� Which of the following sentences is 

the correct option to express present 

perfect continuous tense ? 

[1] Mr. Mehta has been waking for 

2 O'clock in the morning. 

[2] Mr. Mehta has been waking 

since 2 O'clock in the morning. 

[3] Mr. Mehta has been waked since 

2 O'clock in the morning. 

[4] Mr. Mehta has been waking 

from 2 O'clock in the morning.�
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����������������������������������������������� ���!"���������#$�%�����������������&���#�'���&���#�'���&���#�'���&���#�'�����(!�')���*�
���������	
���������	��
�����
��������
�������������
����	������	
�������
������
����

'��� �+��������������X������Y ��������������,�
�+�%���-��%.��)/0�01*�����Y��-�!%2�3��
X�������-��	��%�!45�%0-�0��������Y�����)/0�
��������������01�6�

[1] #$�%  

[2] ����7� 

[3] !+��  

[4] !��'��

  
'��� X and Y are facing each other at 

sunrise. The shadow of Y is falling 

towards right of X, then Y is facing 

in which direction ? 

[1] North  

[2] South 

[3] East  

[4] West 

'(�� �������� ���-� ����'�� �+%-����� 
��%���-�
����������3�8��9�������:&�����!�-�4.5 8��9������
����%�-�01*����� 
��%���-�'���3� ���-�
!"��� 8��9�� 01�� ���� ������ :�� ���� ���� �-�
'���01���

[1] 10 ���- !"�� 8��9���

[2] 12 ���- !"�� 8��9��

[3] 13 ���- !"�� 8��9���

[4] 15 ���- !"�� 8��9��

  
'(�� A boat covers a certain distance 

downstream in 3 hours, while it 

comes back in 4.5 hours. If the speed 

of the stream be 3 kmph, then the 

speed of the boat in still water is :�

[1] 10 kmph  

[2] 12 kmph�

[3] 13 kmph  

[4] 15 kmph 

'��� 10.5 ���-� ��;��� ��� ��� 
���)� ��� ������
�!8����%�� 3.5� ���-� ��;��� ����� 3� ���-�
</'�3�� ������3��2��9�� ����)	���� ����=��� �����
:����01*����)��%��3��!"��%�&�������)��-�
�� �������-�0���-�6�

[1] 112 [2] 126 

[3] 132 [4] 138�

  
'��� A metallic sphere of radius 10.5 cm 

is melted and then recast into small 

cones each of radius 3.5 cm and 

height 3 cm, then the number of 

cones thus formed is : 

[1] 112 [2] 126 

[3] 132 [4] 138 



������ ���'���

��	�
��
���� � �

')�� �������3��
��%��������>����'?�@�A�B��:����
	�
��%� !%� 3� �>������ ��� '?�@�A� B��:�

:��45�%�
8

3
3 ��)��� 0��� :���� ���� B��:� �-�

���>�����%�01���

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50 �

  
')�� If the amount is 

8

3
3 times the sum 

after 3 years at compound interest 

compounded annually, then the rate 

of interest per annum is : 

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50  

'��� 1865 ����������������660�	���":-�&���������

0�1�	�1%�1305 ��0��-�&���������01���!%��)�

120 C��D�������������������3�� ��-����>����0-��

&���������01������� ������������������� ���>���/�

&���������0�1�6 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085�

  
'��� Out of 1865 people, 660 can speak 

English and 1305 can speak Hindi, 

but 120 persons cannot speak either 

language, then how many persons 

can speak both languages ? 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085 

''�� '�����-��-�������20%��-���-�0���:����

!%� ��� �"�0�� 800� E!��� ���� 12.5� ���"��

'���� ;�����  �%-������� 01�� ���� '�����-�

�+���-���!"������"������-�01�6 

[1] 12 E!��  

[2] 14 E!���

[3] 15 E!��  

[4] 16 E!���

  
''�� A reduction of 20% in the price of rice 

enables a customer to purchase 12.5 kg 

more for Rs. 800. The original  price of 

rice per kg is : 

[1] Rs. 12  

[2] Rs. 14�

[3] Rs. 15  

[4] Rs. 16 



� ������� ������
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'��� �����:�� ��� ��� ����.�� ���� �����:���
����.�� ��� 12� �)��� ����� ���>�.�� ��� 5�
�)���01*�����#��������>�.��36 0�����������;��
01����

[1] 2726 [2] 2736�

[3] 2796 [4] 2826�

  
'��� In a division sum, the divisor is 12 

times the quotient and 5 times the 

remainder. If the remainder is 36, 

then the dividend is :�

[1] 2726 [2] 2736�

[3] 2796 [4] 2826 

'*�� �����F�7�-����	����!�������-�:����
�

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S�

  
'*�� Find the next term of the following 

series : 

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S 

'��� ���-� �� ��� ���� 5, 9, 13� ��� ������:��
�%���!%�?�����2, 6������10����>��&'���
01*����-��&���2��9-��� ���01���

[1] 602 [2] 592�

[3] 572 [4] 582�

  
'��� A number when divided by 5, 9, 13 

leaves remainder 2, 6 and 10 

respectively. The least such number is : 

[1] 602 [2] 592�

[3] 572 [4] 582 

�+�� ��� ����'�� �+9� ���>��� ���� "PARTICLE"�
����"USBQFMDJ"������"GENERATE"�
����"FOFHFUBS"��� ���:����01������3�-�
������+9� ���>��� ����� "DOCUMENT"�����
�� ���:��������
�

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF�

  �+�� In a certain code language 

"PARTICLE" is written as 

"USBQFMDJ" and "GENERATE" 

is written as "FOFHFUBS", then in 

same code language "DOCUMENT" 

will be written as : 

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF 



������ ���*���

��	�
��
���� � �

���� �-��������P, Q ���� R G�%�����9�1��5�8��9��

���� ��%���01*����R, Q�����)�)�-��������

�����Q, P�����)�)�-��������'����01�������

	��������P�G�%��91���������%�������������

����������6�

[1] 22 8��9�� [2] 25 8��9� 

[3] 30 8��9�� [4] 35 8��9� 

  
���� A tank is filled in 5 hours by three 

pipes P, Q and R. The pipe R is 

twice as fast as Q and Q is twice as 

fast as P. How much time will pipe P 

alone take to fill the tank ? 

[1] 22 hrs [2] 25 hrs 

[3] 30 hrs� [4] 35 hrs 

�(�� ����
13

13

−

+
=x ����� ,

13

13

+

−
=y ����

( )22
yx + ��������01���

[1] 14  [2]  12    

[3]  13 [4]  16�

  
�(�� If 

13

13

−

+
=x and ,

13

13

+

−
=y  then the 

value of ( )22
yx +  is : 

[1] 14      [2] 12   

[3] 13 [4]  16 

���� �45��������-����!��D������A�&��-��	��%����

10����H�����!%������B����-��	��%����14����

H�����!%�01���������	!�-��H������/�!%H!%�

&��� ���-� 01��� ��� A &��-�� 	��%� ��� 24����

H�����!%�0���:��-�01��!��D������45��������-�

�� �������-�01�6�

[1] 31 [2] 33 

[3] 37 [4] 39 

  
���� In a row of girls, A is 10th from the 

left and B is 14th from the right. If 

they interchange their positions, A 

becomes 24th from the left. How 

many girls are there in a row ? 

 

[1] 31 [2] 33 

[3] 37 [4] 39 

�)�� ����)�����%�����H�)�����15%������!%�
&�'���01��	�%�#����#���18 E!�� 	�
���
���� &�'�� 0������ ���� #���� ����� 18%� 0���
:���*�#���H�)����?���+(��IEJ����K�01���

[1] 360  

[2] 540 

[3] 600  

[4] 640�

  
�)�� A shopkeeper sells an article at 15% 

gain. Had  he sold it for Rs. 18 more, 

he would have gained 18%. The cost 

price (in Rs.) of the article is : 

[1] 360  

[2] 540 

[3] 600  

[4] 640 
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���� ����H&���-�:��� ���9000�01������!)E>�����

�-�:��� ����@�A��%�5%�	�1%���0��	����

�-� �@�A� �%� 8%� 0��� ���� ��� �>��� ����

:��� ��� 9600� 0���� ���� !)E>����� �-� �� ����

01���

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600�

  
���� The population of a town is 9000. If 

the males increase by 5% and 

females by 8%, the population would 

be 9600 in a year. The number of 

males is : 

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600 

�'�� D, C �����E������&��01��A, E����	�
���

��&���0-��01��C, A������&��01��D, B����

	�
��� ��&�� �0-�� 01�� ���� 3����� ��� ��1��

�&�����&��01�6�

[1]� A�� �

[2]� B�

[3]� C� �

[4]� D�

  
�'�� D is taller than C and E. A is not as 

tall as E. C is taller than A. D is not as 

tall as B. Who is the tallest among 

them ? 

[1] A  

[2] B 

[3] C  

[4] D 

���� ��� �45�-� ��� .��9���"�.� �-� 	��%� 3�����

�%���0)��X�����0�����LL�0���%�������:-�

��� 3���1��� !)�� �-� �45�-� 01MM�� ���� �45�-�

���X��������!"��%���&�
��01�6�

[1]� �!��� �

[2]� ���3��

[3]� &0�� �

[4]� �����

  
���� Pointing to a girl in photograph, X 

said "She is the daughter of my 

grandfather's only son". How is the 

girl related to X  ? 

[1] Father  

[2] Brother 

[3] Sister  

[4] Mother 



������ ��(+���

��	�
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�*�� �����>!�3�:�����-�%����45-�!+������!��'��

�-�	��%�:��%0-�01������#$�%��������7���-�

	��%�0���'��%0-�01������#����
�)	�/�����

����������:�����6�

[1]� #J - !J  

[2]� #J - !+J 

[3]� �J - !+J  

[4]� �J - !J�

  �*�� A steam engine train runs from east to 

west and wind is blowing from north to 

south, then the smoke from the train 

would blow in which direction ? �

[1]� N - W  

[2]� N - E 

[3]� S - E  

[4]� S - W 

���� ������� ���F�7�-����	����!��01���

�

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232�

  
���� The next term of the following 

number series is : 

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232 

*+�� 9 ?������ ��	�������	�1���n 01������#�����

���� 	��-� �� ��	���� ���� ������� �%� �����

:������������	�1���������0���:������6�

�

[1] �0-������%0�����

[2] 1 �-��@�A�0���-�

[3] 1.5 ��-��@�A�0���-� �

[4] 2��-��@�A�0���-�

  
*+�� The average of nine consecutive 

numbers is n. If the next two 

numbers are also included, the new 

average is : 

[1] remain the same 

[2] increase by 1�

[3] increase by 1.5 

[4] increase by 2 
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*��� 0�%��7��� ��� ���� H�������� ���� �+��H���� �-�

%���%����
������0��%���%�H�������N!�

����	�
��+�'�����������01�6�

[1] �)(���!)%�%�>9O-��#P���	�1%�����4�����

���:-��	����%7��

[2] ����%� %�>9O-�� #P��� 	�1%�  �!%����

���:-��	����%7� 

[3] ��0%� ���:-�� 	����%7�� 	�1%� &-%�

�����%�=5����:-��	����%7��

[4] 	&+��0%� ���:-�� 	����%7�� 	�1%�

 ����,0-,%1�������:-��	����%7��

  
*��� Which places of Haryana have been 

notified as Ramsar site under 

Ramsar convention of UNESCO ?�

[1] Sultanpur National Park & 

Bhindawas Wildlife Sanctuary�

[2] Kalesar National Park & 

Khaparwas Wildlife Sanctuary 

[3] Nahar Wildlife Sanctuary & Bir 

Shikargarh Wildlife Sanctuary�

[4] Abushahar Wildlife Sanctuary & 

Khol-Hi-Raitan Wildlife Sanctuary�

*(�� ������������������!%���'�%��-�:����

(i) 0�%��7��� ���� ������)Q�� ��H���� �-�
H���!����>���2002 �����-��3����-*�
�

(ii) �����+����R-���!���0�%��7���%�;�����
!0���������)Q�����*�
 

[1] �����(i) �0-�01*�

[2] �����(ii) �0-�01* 

[3] (i) ����(ii) ������� �0-�01�*�

[4] (i) ����(ii) ������� ����01�* 

  *(�� Consider the following statements :�

(i) The institution of Lokayukta was 

established in Haryana in the 

year 2002.�

(ii) Justice Pritam Pal was the first 

Lokayukta in the State of 

Haryana. 

[1] Only (i) is correct.�

[2] Only�(ii) is correct. 

[3] Both (i) and�(ii) are correct.�

[4] Both  (i) and�(ii) are incorrect.�

*��� 0�%��7������������0%�����L��9-�	�S.���%�
0-%��:M����N!�����:����:����01�6�

[1] �)E�"��� [2] ����-!��

[3] !��-!�� [4] ������-�

  
*��� Which of the city of Haryana is 

known as the 'City of War Heroes' ?�

[1] Gurugram� [2] Sonipat�

[3] Panipat� [4] Bhiwani�
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*)�� 0�%��7��� ��� ������� ��� H��%����� ���� ����
���0��� %�;�� ��%����� H��%�� ��� �:��� !"�T����
01�6�

(i) ��� ���1�&������&%��

(ii) �����������%�����&�

(iii) ��-�����-�����%���S�T��Q� 

�0-�0-�0-�0-������+9����'����-�:����

[1] (i) 	�1%�(ii)  

[2] (ii) 	�1%�(iii) 

[3] (i) 	�1%�(iii)  

[4] (i), (ii) 	�1%�(iii)�

  *)�� Which of the following monuments 

of Haryana have the status of State 

protected monuments ?�

(i) Sheikh Tayyab's Tomb�

(ii) Shobha Sagar Pond�

(iii) Bhimadevi Temple Complex 

Choose the correct code :�

[1] (i) and�(ii)  

[2] (ii) and�(iii) 

[3] (i) and�(iii)  

[4] (i), (ii) and (iii)�

*��� 0�%��7��� ��� 	�1P������ �������� ���� 	�
��%��+��
�)��
��	��������������%�������������������
�����1�-�-���H�����:�����%�01�6�
�

[1] 0�%9O���� �

[2] 0)4��

[3] �'��	�3�	�3�4-�-�

[4] �:���#P�������U�

  
*��� Which of the following institute is 

responsible for the development of 

infrastructure facilities in industrial 

areas of Haryana ?�

[1] HARTRON� �

[2] HUDA�

[3] HSIIDC�

[4] District Industries Centre�

*'�� ������� ��� ���� ��� ��1�� 0�%��7��� ���
%�;�!������G�%�����)Q���0-��0-��0-��0-���0�����01�6�
�

[1] 0�%��7�������) �����-�

[2] !�:�&�����0�%��7���#V'������������
�����
�-���

[3] 0�%��7��� ����� ����� 	������ �����
��H��

[4] 0�%��7���������
���%�	�����������H��

  
*'�� Who among the following is not 

appointed by the Governor of 

Haryana ?�

[1] Chief Minister of Haryana�

[2] A Judge of Punjab and Haryana 

High Court�

[3] A member of Haryana Public 

Service Commission�
[4] A member of Haryana Human 

Rights Commission�
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*��� 0�%��7��� ��� ������� ��� %�;�!������ ���� ���

��1�������1�%���0�����6�

[1] �):5W.%�0)�1��&�-��

[2] :��) ������0���- 

[3] 
�����������4��

[4] &�&+�!%������

  *��� Who among the following Governors 

of Haryana was a civil servant ? 

[1] Muzaffar Hussain Burney�

[2] Jaisukh Lal Hathi 

[3] Dhanik Lal Mandal�

[4] Babu Parmanand�

**�� L!�%��%� !0'��� !�� ���:��M� ��� &�%�� ����
������� ���������������!�=5����

(i) �0� ���:��� !�%��%� ���� ��� 3��3�� ���
N!� ���� �'�0X��� �%�-� 01� 	�1%� �0�
0�%��7��� ��� ��H�� !�%��%���� ��� ���
������-�� �����:�,	������� 4�9�&���
�1��%��%�%0-�01*�

(ii) !"
����!�%��%��������	�Y�	�������-�
�����7�� !�%��%� !0'��� 	���79�� �-�
:�� %0-� 01� 	�1%� !0'��� (ID)� ����
:���� �@
�)� ���� �1���0�� �%��S4�X�� ���
:��45��:����*�

(iii) !�%��%� !0'��� 4�9�&��� ���� #!�B
�� 4�9��
���#!��������������(��7���%-����:��	����
���� H���� '��� 0��)� ����� :����� 	�1%�
!�%��%���� ���� H���� ���:��	���� ��� ����
	�������%����-�	���������0-��0���-*�

�0-�0-�0-�0-���+9����'����-�:����

[1] �����(ii)��0-�01*�

[2] (i)�	�1%�(ii)��0-�01�* 

[3] (ii)�	�1%�(iii)��0-�01�*�

[4] (i), (ii)�	�1%�(iii)��0-�01�*�

  
**�� Read the following statements about 

'Parivar Pehchan Patra Yojna' : 

(i) This scheme identifies family as 

a unit and is creating a reliable 

socio-economic database of all 

the families in Haryana. 

 

(ii) An eight digit unique family ID is 

being issued for every family and 

the ID will be linked to birth, 

death and marriage records. 

(iii) The data available in family ID 

database will be utilized to 

determine automatic verification 

for various welfare schemes and 

families will not be required to 

apply themselves for benefits. 

Choose the correct code : 

[1] Only (ii) is correct.�

[2] (i) and (ii) are correct. 

[3] (ii) and (iii) are correct.�

[4] (i), (ii) and (iii) are correct.�
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*��� 0�%��7��� ��� %�;�!��� ��� ��&�
�� ����

������� �����������!%���'�%��-�:��� 

(i) �0� 0�%��7��� ���U-�� ������P���� ���

�)���
�!���01�*�

(ii) �0�%�;��������-���-���������!������


��%7���%������01�*�

(iii) �0� 3�74��� %�4� ?�S�� �����39-��

0�%��7���%�;����� ������	
����01�*�

�

(iv) #�0��� ����
���� ��� 	������ ���3��

H������-�����Q��R�T���0-��01*�

 

#!�)�Q�����������1�-��/���������0-�0-�0-�0-��01/01��6�
�

[1] (i), (ii), (iii) 	�1%�(iv) 

[2] (ii), (iii) 	�1%�(iv)�

[3] �����(iii)  

[4] (ii) 	�1% (iii) ��������

  
*��� Consider the following statements 

regarding the Governor of Haryana : 

(i) He is the Chancellor of Central 

University of Haryana.�

(ii) He can hold any office of the 

profit in the State.�

(iii) He is the President of Indian Red 

Cross Society, Haryana State 

Branch.�

(iv) He does not have any 

discretionary power granted 

under the Constitution. 

Which of the above statement(s) 

is/are correct ? 

[1] (i), (ii), (iii) and�(iv) 

[2] (ii), (iii) and�(iv)�

[3] Only (iii)  

[4] Both (ii) and (iii) �

�+�� 0�%��7�����������������	�1%�%�;��������-�

�-9���0�1���

[1] 7 	�1%�4  

[2] 10 	�1%�4 

[3] 10 	�1%�5  

[4] 12 	�1%�5�

  
�+�� The Lok Sabha and Rajya Sabha 

seats in Haryana are :�

[1] 7 and�4  

[2] 10 and�4 

[3] 10 and�5  

[4] 12 and�5�
ssssss  
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[1] CGC 

[2] AGA 

[3] CGG 

[4] AGU�

  ���� Which of the following codon do not 

specify arginine ? 

[1] CGC 

[2] AGA 

[3] CGG 

[4] AGU 

���� �
 �
 � "�� � �� � � �# 
$�� � � �� X-� �� � � ' �� � �� ���
� �"� � �� -# � . �

[1] -�" �� * � ��/ ��

[2] % �/ �� 0� �� +1� ���% � �

[3] )/ 2 %� � �� � � 03��

[4] -�+ �� 04 �+ � � � ��� �

  ���� Which one of the following is a  

X-linked recessive disease ? 

[1] Haemophilia 

[2] Diabetes insipidus 

[3] Pseudorickets 

[4] Hypertrichosis 

���� ��� �� ' �� � � "� �� �# 5 �� 
� �� � ' �* �� -� � 
�� �� � ����

�
 �
 �" � � ��� �� �# 
$� �� �� �� � �/ �� -# �. �

�

[1] " �� �� � �� �� �� �6� �� ( "� �7 � �1 0� �� & %�, �

[2] ' � � � ��� 8� �

[3] � �� "� �� �� 0 �� ��

[4] 9� 2 � �� � �& �0 
� �& + %3� �

  ���� Which of the following is 

responsible for failure of vaccine in 

infants ? 

[1] Maternal antibodies 

[2] Endotoxins 

[3] Serum protease 

[4] Glucocorticoids 
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 � � �� � � �� �� " �� � � 
�
 � "� �� �� � � �# 
 $� �� ������������ � �
-# �. �
[1] �# �� 0 � ( �� � ,� � �� -:� � �� �/" �
 � -�� �� �

-# !�

[2] ' � �� " � �� ��� � �� ); �� �-�� � �� -# !�

[3] ��� �/� < � '= �� �� �� �� � )� �� >� -�� � �� -# � !�
[4] � �
 � � �/  ��
 �� � � �
 �� �� � � � ����

� � �� � 
�� ��� -�� � � �-# � !�

  ���� Which of the following is incorrect 

for snakes ? 

[1] Bones of palate are movable. 

 

[2] Pectoral girdle is present. 

[3] Ribs are free ventrally. 

[4] Snakes are sensitive to air borne 

vibration. 

���� ' �� " � �% � �� � � �� �� �� �# 5� �
 � � ��� � 
� 
�� "�� �
/ �� ��� 
� -# � . �

[1] 0 3/2 � � 5/ 2 �� � ��� �[2] � � �� � � ���

[3] � � � � �� 
�� [4] � % 3��

  ���� Armadillo contributed to the 

development of vaccine for : 

[1] Tuberculosis [2] Leprosy 

[3] Corona [4] AIDS 

���� FSH� ( * �& � ��  � �� � )0"  �� �0 � �� -� & "��
 
�
� 0� �� � 3�� �� �-�& " �� 
 
 ,�� � ��/ �
 � � ?�� �� � -# �� �

[1] 9� �+ � � ���� �% �

[2] 9� �+ � � ��� �� 0� 
�

[3] * � & )* �� 9 �2� �� �� �� 0 �
�

[4] � )* � �� � ��� �%�

  ���� Chemically FSH (follicular 

stimulating hormone) is : 

[1] Glycolipids 

[2] Glycoprotein 

[3] Phosphoglucoprotein 

[4] Sphingolipid 

���� � 10� �� 1� �( �� �� ' ; �
 ,� � �
� ��� -# �� �

[1] ' � �� 
� � � � � �� � �� � �@% � ���� � ��
' 
  A "� "�� � �2 � �� -�� B � �� ���80 � ��
 � � ��
' � � �C/ �5 �� � � � �� �� � �� �-���
�

[2] % �� 
� � � �� � �D �1
 � � � 
� � ����� ' �� � 
� �
��& � �"� � ��

[3] �� �� �
 � � � � � � �� � 8�@ � � -� �  � � �E � �� � ��
 �
�� � ���
 � �� �
 � � �� ��� � � � ���� ��� �� ��/� � ��
�

[4] F � � � � � �=� 

� "� �� �� � "� 0 �� 5 ���
 �� �# � �� 10�
� � � ���); � ���

  ���� Antisense technology is : 

[1] When a piece of RNA that is 

complementary in sequence is 

used to stop expression of a 

specific gene 

[2] RNA polymerase that produce 

DNA 

[3] A cell displaying a foreign 

antigen used for synthesis of 

antigens 

[4] Presence of somatoclonal 

variants in tissue culture 
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� �� �
 �
 � " � � � �� � � � # 
$��� � ; �
� " �+ 0 �� � � &�1% 4��
% �� 
� � � �" 3� � � 1 �� � � /� %� �
 �� � � � �1� � �
 � "�� �

� ��� ��� ��� �� � -# � .�

[1] + 
 � �� G-C content ( ��� �� � � ��
" �> �,� ' ���-� � ��� -# !�

[2] / � � ' �
� � � DG� �� 
� H�
 D� � " 2� /� "� �� ' ���
-�� � � � -# � !�

[3] / � �6� �� � � � � �� � � � �"� � �'� �� -�� � �� -# � !�

[4] / � ���
 �� � � � ��"� 
� "�� � ' ���-� �� � � -# � !�

  � �� Which of the following statement is 

wrong about mitochondrial DNA 

and nuclear DNA ? 

[1] They differ in G-C content. 

 

[2] They differ in their buoyant 

density value. 

[3] They differ in type of bases. 

[4] They differ in melting temperature. 

���� �
 �
 � "� � � �� � � �# 
 $� �� �� �� � �� 
 � �� �� �� �

' � /� �� � � � �� � -�� -�� -�� -� �A " � -# � .�

�

[1] " �< ��� ��� � →� �� � � � � � � �> � �� →�

' � � ���� -��→�� � �� � �� � � �>� ��→ " � I � J� �

�

[2] " �< ��� ��� �→� �� � � � �� �� � >�� �→� " � I � J� �

→� �� � � � �� � �>� ��→ ' � � ��� �-�� �

�

[3] ' � � ���� -�� →� � � �� � �� � � �>� �� →�

" � I � J� �→� �� � �� � �� � >� � �→ "� < ��� ����

�

[4] ' � � ���� -��→� �� � � � � �� � >� � �→� " � I � J�  

→� �� � � � �� �� � >� � �→ "� < ����� �� �

  ���� Which of the following is correct 

sequence of the components in a 

reflex arc ? 

[1] Muscles → Motor neuron → 

receptor → Sensory neuron → 

Spinal cord 

[2] Muscles → Sensory neuron → 

Spinal cord → Motor neuron → 

Receptors 

[3] Receptors → Sensory neurons 

→ Spinal cord → Motor neuron 

→ Muscles 

[4] Receptor → Motor neuron → 

Spinal cord → Sensory neuron 

→ Muscles 
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[1] ' � � �% �� � �� �/
 � � �� �" ���

[2] � %� �� � 
/ 
� � �� �" ���

[3] � �� /2 � � /
 �" � ��

[4] � � �� � 
 �
* � � �� "���

  �!!�� The first tetrapods originated in : 

[1] Ordovician period 

[2] Devonian period 

[3] Silurian 

[4] Carboniferous 

�!��� )��& 1� � " � � � �
 �
� " � � � �� � �� # 
$�� � � �� ��� � �� <�
��
 �� � � � �� � �-� � �� � �
 �� � ���� �� -# � �. �
�

[1] ��� � �� � �+ 0 �

[2] " �/ �� �� +0 �

[3] A � � "�� ��+ 0 �

[4] � � � �
 �� � �+ 0�

  �!��� Which one of the following cells 

maintain a current of water in  

sponge ? 

[1] Porocyte 

[2] Myocyte 

[3] Chromocyte 

[4] Choanocyte 

�!��� �
 �
 � �; �
 ��� � � �� � �� KL � � ��" 3� � -�� -�� -�� -� � �� �� ��
� � 
� � ��

AM � H ��� � ��� �� � >� " � �� 
 �� �� � � � � �� � �"%�
� �=�� � -� � ��� -# !�

BM � �� %L � ���� � � >� "�� � 
�� � � � � � � �� �� "%�
� � 0� �-�� � �� -# ! �

CM � �� %L � �� �� �� > � "� � � � # �$� �� �� � �� � �� � �"% �
� � 0� �-�� � �� -# ! �

DM � � ��/ � ��� � �� > � " �� � � # �$� �� �� � � � � �� � �"%�
� � 0� �-�� � �� -# ! �

� -�� -�� -�� -� � � �� �� ��-# � ��

[1] A� � �" 3�D�

[2] AB�B� � �" 3�C�

[3] BB �C� � �" 3�D�

[4] AB�B� � �" 3�D�

  �!��� Read following statements and 

choose the correct option : 

A. Pyramid of number in grassland 

ecosystem is upright. 

B. Pyramid of number in tree 

ecosystem is inverted. 

C. Pyramid of biomass in tree 

ecosystem is inverted. 

D. Pyramid of biomass in aquatic 

ecosystem is inverted. 

Correct option is : 

[1] A and D 

[2] A, B and C 

[3] B, C and D 

[4] A, B and D 
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�!��� � � & 1� �� � �& �� �' =/ / 
� -# � ��

[1] " �� �)� ��� � �� �� �� ��

[2] " �� �)� ��� � � ' �� �@ � �� ��

[3] " �� �)� �� � � � ' �= ����� �� ( � �� � �� %� ,�

�� �1; � �� ��

[4] " �� �)� ��� ��

  �!��� Conchology is the study of : 

[1] Shell of Mollusca 

[2] Mentle of Mollusca 

[3] Suprapedal gland of Mollusca 

 

[4] Mollusca 

�!��� �� �� / �& 
 � � � � � 1� � �
 � " �� � �
 �
 � "� � � �� � � �#
$� ��

�D /� 
 -��
 -��
 -��
 -�� � � -# � .�

[1] ' 1� �� � � ��� � /�

[2] � �E � � � � ��� �/�

[3] ' � � � ��� � /�

[4] � A )0� �� � @ �� / ��9/ �

  �!��� Which of the following is not true 

about Virion ? 

[1] Intracellular 

[2] Extracellular 

[3] Acellular 

[4] Crystalizable 

�!��� �  N � )�
 =�� �� /� �� � "�� � � �� � �� � � � 0� � �� � � �� -
� �

' �� �1� � �� � �"� 
� � �� ); ��
� � �E � ?�� � � �

�� �-3
� � -� � �� �-# � � �

[1] � � � �� 0� "
 
 � ��� �( � 2 � ); �� ��� �� �,� O � � ��

[2] � �+ 
� �� # 
� � "� O �� ��

[3] � A )0� � 0� "
 
� ���� O �� ��

[4] � �� �1% 5� �' � & �� �  �� � O � ���

  �!��� The union of sinus venosus with 

right auricles in some cases in 

mammals is marked externally by :  

[1] Sulcus terminalis 

[2] Sinus venarum 

[3] Crista terminalis 

[4] Appendix auricule 
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�!��� �
 �
 � " ��� �� � � �# 
 $� �� �1� �+ "� "� +0 �� � �& �1%4 /��
� � �� �E � � P� ��� �� ���/ �� �� �� �-# � .�
�

[1] � � �
 
 0� 
�* # 0 �� �� �% �� �� +� �0 4 �� � * ����
�

[2] " �� 
 �� � "�+ 
 �' � & 5� �% � ��

[3] β-' �& 5 ��% � ��
 �� 1�� +"�

[4] � �+ 04 � 0 � ��1; � � 0� ��

  �!��� Which of the following enzyme is 

present on outer membrane of 

mitochondria ? 

[1] Carnitine fatty acid acyl 

transferase 

[2] Monoamine oxidase 

[3] β-oxidation enzyme 

[4] Citrate synthetase 

�!��� � -� � ���); � � ��� � � � 
 �� " � �� �� �� �� � �� ); �� � ���
� �# � �
 � � # �� �1� /�� �� �&�" 
#1� � ( ' � �� �� � �� �
� �� � �,� � � �� �-# � ��

[1] ; � �/ �� & + %�

[2] � A � �& + %�

[3] � ��9�� � �0 ��

[4] � �� 0 � 
� &+ %�

  �!��� The cartilage that forms the 

laryngeal prominence during male 

adolescence is : 

[1] Thyroid 

[2] Cricoid 

[3] Epiglottis 

[4] Arytenoids 

�! �� )> ��2 �� 
 � � � �/� �� ��� �� ��� �� �@ �� � -� # � ��� � �1"� �� �
�" /� "� �� � -�� � �� -# �� ' �# �� ' �
� � ��� 
$� � ��
� � � �� ��� � � �� "/ �
 � �" �� ��� �� �� 
 �� -�� � ��� � �
-# � !�)> ��2 � 
� �� � � �� � �-�@ � �-# � ��
�

[1] � �# 
 �� �1 ��� � * ���

[2] 5 �� & �
 �� * ���

[3] � ��� � G�� 
��

[4] � �� ��# 5� �Q / 2 )� � �

  �! �� Protogynous hermaphrodites refer to 

organisms that are born female and 

some point in their life span change 

sex to male. The example of 

protogyny is : 

[1] Dwarf angle fish 

[2] Clown fish 

[3] Coeloplana 

[4] Laevapex fuscus 
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�!��� �
 �� �� � �� @ � �� 
� � -�� � �� -# �� ��

[1] % �� 
� � �� "3� �� �� 0 �
� �� �

[2] ' � �� 
� � �� "3� � �+ � �� �� � "� �� �

[3] % �� 
� � �� "3� � � � �� )04 �& �� ���

[4] ; � �/ "�
 � �� � � %�� 
� � ���

  �!��� Nissel's granules are madeup of : 

[1] DNA and Protein 

[2] RNA and Ribosomes 

[3] DNA and Cholesterol 

[4] Thymine and DNA�

��!�� 
 ��� � �� � � ��� � 2 0 �� � � � �� �-� /� �� �� � "� ��� � � R�

��" � "�� ��� � � � � � / 9"� �� �� �� �/
 � � �� ��� ��

�

AM � � �
� �� 
� � ' �& �* � �
 ���� � � �" 3�

� �
� " �� " "��� �� �
� "�

BM � ��+ �� �
 �+ �� " � �� "3� G� # 10# ���� ' �� � � 0 ��

CM � + �� 0� � � /�� � � %� 
 " �� "" � �� "3� �� 
� " ��""�

� ��� � 
� "�

DM � � �� � �� �� * / �� ��� 
 10 �+ 
� � ��" 3� G �# 10 # ��� �

' � � �� 0 ��

EM � " �/ �� �)0 � �� S # ��# 1 �� � � "3� * � I ���

' � * �� + �0 %��

� 2 0 � �� 2 0 � �� 2 0 � �� 2 0 � � ����

[1] AB�C� � �" 3�E�

[2] AB�B� � �" 3�C�

[3] C� � �" 3�E�

[4] B� � �" 3�D�

  ��!�� With the help of codes given below 

select the pair(s) of 

spices/condiments : 

A. Cinchona officinalis and 

cinnamomum zeylanicum 

B. Piper nigrum and Plantago ovata 

C. Elettaria cardamomum and 

cinnamomum zeylanicum 

D. Rauwolfia serpentina and 

Plantago ovata 

E. Myristica fragrans and Ferula 

asafoetida 

Codes : 

[1] A, C and E 

[2] A, B and C 

[3] C and E 

[4] B and D 
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����� � � # 
$�� � " D)/ � �� ���� � �� � � � ?�� "� � � � �"�
' �� �� -# �. �

[1] � �� � �� [2] 
 �� �� �

[3] * � � � � 0" �� [4] � � � � �
 � �� � ��

  ����� Which is use as fish bait ? 

 

[1] Leech [2] Nereis 

[3] Pheretima [4] Arenicola 

����� PBR-322� ��� � � � 5 ��� � 
� �� � �-� � � � � � � -�
�� / 5 �� -�� � �� -# B �-# � ��

[1] � � � ' �� � �� �
 � �� # 50 � �� / �� G�� �J" %�

[2] � � � "2 � �� �/ � �� ��
�� "�

[3] � � � ' �� � �� �
 � ���� �� � � � � � (04 � < ���� �� �
 ,�

[4] � � � ' �� � �� �
 � �� �/ � �� G�� �J"% �

  ����� PBR-322 used as vector for cloning 

is : 

[1] A modified bacterial plasmid 

[2] An original viral genome 

[3] A modified transposon 

[4] A modified viral plasmid 

����� � �> � � � � ���� � � ' � 5 �� �� -�" �� 9� �� � �
 � ��
� "� � �

�� �� �� � � � �� � �� D��� �� 
 
� � � ���� @ � �"� -# �. �

�

[1] �� �=� �� � �7 �� �� D��� � �
 
 �( S � "� ���Q 0 , �

[2] � �� �
� �D �� �� � 
 
� ( �% ���� 
,�

[3] � �1�  � �D �� �� � 
 
� �

[4] �� �� �� ���� D��� � �
 
 �( %  G��� ���
 , �

  ����� Sickle cell anaemia is the result of 

which type of mutation in the 

haemoglobin gene ? 

[1] Frame shift mutation 

[2] Deletion 

[3] Point mutation 

[4] Duplication 

����� ); �� 
� 1�� �"
 � � � � � �# � �
 � �)� � � � �� � � � � %�� ���
� � �� �#; �� � �
" �� 
 � 
� -� � �� �-# � ��

[1] / T � �" � �� [2] *  Q*  ��" � ��

[3] U� /� "� � � � [4] ' � � >� "���

  ����� While migrating larva of Ascaris 

takes place its 4th moult in : 

[1] Liver [2] Lung 

[3] Heart [4] Intestine 
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 � "�� � ��� � �# 
 $� �� �# 50 � 0� � %-�+ % 4 �� �� 
 � ��

� � ��V �� �V � 
 �"� -# �. �

�

[1] E.C.1.1.1.27 

[2] E.C.1.1.1.1 

[3] E.C.2.3.1.6 

[4] E.C.1.11.1.6�

  ����� Which one of the following is the 

systematic name for Lactate 

dehydrogenase ? 

[1] E.C.1.1.1.27 

[2] E.C.1.1.1.1 

[3] E.C.2.3.1.6 

[4] E.C.1.11.1.6 

����� CD8� � � � ���� �� <� �� �� �� � � �� ); �� � �� �� �
 �� � �

� � � ��-��
 �� �-# � � . �

[1] + 10 � * � � �& 
�

[2] G ��J" �� �� + 03� �

[3] -��� 0 �� �� +0 3� �

[4] + �� ; � � �� �� +0 3��

  ����� CD8 cells recognize antigens present 

on : 

[1] Interferon 

[2] Plasmocytes 

[3] Hepatocytes 

[4] Erythrocytes 

����� � ��%" 
 �� ��� � � �� �� �� �� � -# � �� �

[1] �  � � ��"N ��� "� ��

[2] � �� ��� ��� "� � �

[3] � N �� �� �" ���

[4] " � � K� � " ���

  ����� Epidermal scales are present in : 

[1] Scoliodon 

[2] Rabbit 

[3] Lizard 

[4] Frog 
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�� �� ��+ I � �� � � ��% � �� � �� �0 �+ �� � �� � 1�� +" � ��

(Acetyl CoA)� �
 
� � � � �� �# � �
 �� 
�
 �" �� � �� �

� � # 
$�� �' � ��/ � � 
- ��
- ��
- ��
- �� � �-#� . �

[1] � ���� + � � ' ���

[2] ; � �/ "�
 � �� /� �� * �& )* � 0�

[3] � � �� � 
0 � ��

[4] � 
W �� W �%�W �

  �� �� Which one of the following is not 

needed during formation of Acetyl 

CoA from pyruvic acid ? 

[1] Lipoic Acid 

[2] Thiamine Pyrophosphate 

[3] Aconitase 

[4] N.A.D. 

����� � �2 � # 	 � �
� � � ��R / �� � � � �� ��� ��� ��� � � A "� � �� � 
��� �

�� � ��� �� �� %� � � �� -� /� �� �� � � �
 � ���

�

AM � 0 4 �+ � ��� �→� �2 � # ��� �→�� A 0 � ���/ ��

 

BM � �# �� ' �� �� � +� � →� " �� �� ��� + � � →�

� �
� � ��� + ��

CM � � %� �� � 
/ 
� →� �� � /2 ��/ 
� → 

� � �� � 
 �
* � � ��

� 2 0 � �� 2 0 � �� 2 0 � �� 2 0 � � ����

[1] A� � �" 3�B�

[2] � � � ��B�

[3] � � � ��C�

[4] A� � �" 3�C�

  ����� Select the incorrect sequence of 

Geological periods/Era using the 

codes given below : 

A. Triassic → Jurassic → 

Cretaceous 

B. Paleozoic → Mesozoic → 

Cenozoic 

C. Devonian → Silurian → 

Carboniferous 

Codes : 

[1] A and B 

[2] Only B 

[3] Only C 

[4] A and C 
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��!�� � # �0 �0 � � � �� �)/ �� � � "�� � � � �� � 0�-�� � �� -# � ��

[1] � �H �
 -
 � �� � �� �� �� ( ���+ �� � 9
#; � �,�

[2] � � 3=�-1�� � �� � � � �� � �( % # )"� �9
# ; � �,�

[3] � �-1�� ��� � � �� � � �(% 4 ��" � ' �� 9
 # ; ��, �

[4] � 0� -1� �� �� � �� � � ��( � +� �; �� � 9
# ; � �,�

  ��!�� Skull in members of ratitiae is : 

[1] Schizognathous type 

[2] Desmognathous type 

[3] Dromaeognathous type 

[4] Aegithognathous type 

����� �� ��� @ �� � �� � -�� -�� -�� -� � ��� � �� 8�� �� /� 
� �� ��� �� ��

�

[1] � X �� � �� � � �� � �� � �
� 
� � �� � � �� � � �� ' �� � �

� �� � �� �" 
�� �

�

[2] � �� � �� ' =�
 ��� ��/ � �P � ��� � �B � )�/� �

� � � �X � � ��� �� � �� �� � � 
�
� �� � �� � �� � ��

' � � �� �"
 � �

�

[3] � P� �� � "�� � ���); � �� � 5 �� �� � �� 
� �� � ���

� � � �" 
�

[4] ' =� 
 �� � ��/ �� P� �� �� � �� �� � �� �"
 �

  ����� Select the correct definition of 

osmosis :  

[1] Movement of water from higher 

concentration to lower 

concentration  

[2] Movement of water from its 

higher concentration to its lower 

concentration through semi-

permeable membrane   

[3] Movement of water through 

aquaporins present in membrane  

[4] Movement of water through 

semi-permeable membrane �

����� � ��Y � Z� � 7 �� ��� � � �� ��� +
 � �� �" �� -�� �� � -# � ��

[1] 3-4� ��� 8� @ �� � ��� � �� �

[2] 4-7� ��� 8� @ �� � ��� � �� �

[3] 5-8� ��� 8� @ �� � ��� � �� �

[4] / -� �� �" �� 
-�� � -�� � �� -# �

  ����� The length of food chain is limited to : 

[1] 3-4 trophic levels 

[2] 4-7 trophic levels 

[3] 5-8 trophic levels 

[4] It is not limited�
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����� PCR "� � � �� / 5 ��DNA ��& �� "� � �� �� � G� �� � /��

�� �� �-# � ��

[1] � # ��� �� ; �2 � �� � �
� ��� ��  

[2] � �� � � �# 5 0 ��� / "� 03/ 2 "� * � ��� /1� �� � �

[3] ; � "
 �� � 5� � �0 � �� ��  

[4] � "; � � 
�� � 
� ���

  ����� The DNA polymerase used in PCR 

is obtained from : 

[1] Bacillus thuringiensis 

[2] Agrobacterium tumefaciens 

[3] Thermus aquaticus  

[4] Methanogens �

����� � � 5 � �� � 8�� ��� ��� �#�� � � ' � & 5� ��
� �
' �� �/� �� � (BOD)� 	 �� � � �
 � � � � � ����
" ���� ��� �� -# �� �

[1] � "�� �� � �
 � 
� � ��� ; �
 �� � �" �> ��

[2] ' � & 5� ��
 �� �� ��� �� � �� "� >��

[3] � #� $�
 �
� � � @ ��/ � � �� 
 �
�� �� �; � 
 � � � �
" �> � 

[4] � #� $�
 �
� � � @ ��/ � � ��
� 
� � ��� ; �
 � �� �
� "�� � � �� 
 �
 � � �� � ; �
 � �� � ' 
  �� �� � ��
" �> ��

  ����� Biological Oxygen Demand (BOD) 

of waste water is determined by 

measuring the amount of : 

[1] Total organic matter 

[2] Oxygen consumption  

[3] Biodegradable organic matter 

 

[4] Ratio of Biodegradable organic 

matter to the total organic matter�

����� ' �+ � � � �

 /� �" � ��� ��/ �� �� � 

 �-�� � �� -# �� �

�

[1] � � 2 )��� � � � O �� �  

[2] � 1 �� �� � O � ���

[3] * 2 � � �- � ��@ �� 
 =�� ��O � � �  

[4] �� � 1� � O �� ��

  
����� Vegetative propagation in Eichornia 

takes place by : 

[1] Offset  

[2] Bulb�

[3] Swollen leaf base  

[4] Rhizome�
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 -� � �
 -� � � � -# �� .�

�

[1] 9� �� � �* �� �

[2] Q �� �� �� � � �

[3] " �# ���

[4] ��� � % 
� � �+ ��

  ����� Which of the following is not an 

example of genetically  modified 

organism ? 

[1] Glo fish�

[2] Flavr Savr�

[3] Molly �

[4] Golden Rice�

����� � -�� -�� -�� -� � �; � 
�� �� �/ 
 �� � ���� ��

[1] N >� � �� � ��� "� 6�� � 8�A "� -# � ���" � � �

N �� 0 � � � 8�� �7 � � B� � �0 � � =� �� � � � � � �� )�7 � �

-�� � � � -# � !� �

�

[2] ' � �"� 6�� � � � � 8 �A " � -# � � ��" � �� ' �7 � ��

� 8�� ��� �� �� �� �� A " �" � � �-� �� �� -# � !� �

�

[3] )��+ � � �� � ' �� "�6� �� ' �7 �� � � 8�� /  5� �

� 8�A "� -�� � �� -# ! ��

�

[4] "  @ %�� �� �� � �� $��� ��� � 8��� � � �� � /  5��

� 8�A "� -�� � �� -# ! �

  ����� Select the correct statement : 

[1] Umbel is a cymose inflorescence 

in which short flower stalks 

spread from a flattened 

receptacle. 

[2] Raceme is an inflorescence in 

which sessile flowers are borne 

basipetally.  �

[3] Spike is a racemose 

inflorescence having sessile 

flowers. 

[4] Capitulum is an inflorescence 

having only unisexual flowers.  �
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�� �� ���� ���� � �2�� ���� ������� ��� �����A/�� "�� �

-��
�� ����� *��0��"�&*��
��
����� ���
/�"�� -�����

-#���

[1] � �� 
 �� �# � "� � 5 ��� � � � �* �� O �� ��

[2] � A G0 �� A� � "�O � � ��

[3] * � + 0� � A �� " �O �� ��

[4] * � + � �� � ���
� O � � ��

  
�� �� Photomorphogenesis in response to 

red and far red light is regulated by : 

 

[1] Universal chlorophyll �

[2] Cryptochrome�

[3] Phytochrome�

[4] Phycobilins �

����� � 1%� � 1/2 � 5� �� ��1�� + "� �� ��� �/ �� -# �� �
�

[1] * � & )* �� $% �+ 
-�)0 � � � 1=�� � � � � �� �� � �
 � �� �
� �� �

[2] -�+ % 4 �� �
 �� 1=��� � � �� �� �� �
 �� � �� ���

[3] N-9� �+ � � �� �� %� � �� / ���
� � �� � �� �
�
� � � � ���

[4] �� �0� +% � �1=� �� � � � � � �� �� 
� � �� ��� �

  ����� Endonuclease enzyme are 

responsible for the cleavage of : 

[1] Phospho-di-ester bonds 

 

[2] Hydrogen bonds 

[3] N-glycosidic linkage 

  

[4] Peptide bonds�

��!�� � �� 
 � � @� � ��� 1=� �� � �� �� 
� � -� < � �� � �� � � � ��� �

�1 � ' ��� � � �� � �� �� / ��� � �6� @ ��� � � � � � ' �= ��� � �� �

�-� �
 �� ��� �� -# B� � -� �� �� -# � ��

�

[1]� " �� 
 �� �� �*�

[2] �  � � � 

[3] -� �� � �/ " 

[4] " # 
 ' ��

  ��!�� The taxonomical aid where plants 

and animals are recognised based on 

contrasting characteristics is known 

as : 

[1] Monograph 

[2] Key 

[3] Herbarium 

[4] Manual�
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��	�
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����� + �� 5 04 � & 
� 0 4 �1 ��� � 0
 � Z� 7 � �� ��� " � � � + �� 5 04 �& 
� ���

' �1 �" ��� �-�� -�� � �� -# � ��

[1] ATP � � ��

[2] ' � & 5� ��
�

[3] G ��)0 �� 5 � �
 �& 
�

[4] � �+ 0� � A �� " �� ��

  
����� The final acceptor of electrons in the 

electron transport chain is : 

[1] ATPase  

[2] Oxygen 

[3] Plastoquinone  

[4] Cytochrome C�

����� ��# � A "� � � � � A"� �� �� @ ��� � � � �� � -�� -�� -�� -� � ' 
 A "�
�/ �
 �� � � ��� � ��

[1] )0 �� 
 �� 0 
 �→ �� 0� " �& � → 6� � → �7 6� �
�

[2] ��0 � " �& �� → �� �� � → )0 �� 
 � � 0
 � → 

" �& ��

[3] ��@ � 
 �� ��# � �� � → ��
 0� / � �� # �� � � → 

��0 � "� &� �→ 6� � �

[4] ��
 0� /� ��# � �� � → �� @ �
 �� �� # �� � � → 

�� �� �→ � �" �' � ); �� �

  ����� Select the correct order of serial 

stages of Lithosere : 

[1] Stone wort → Peat moss → 

Shrubs → Trees  

[2] Peat moss → Herbs → Stone 

worts → Moss 

[3] Foliose Lichens → Crustose 

Lichens → Peat moss → Shrubs 

[4] Crustose Lichens → Foliose 

Lichens → Herbs → Scrub stage�

����� �� =� �� @ �� /� �� � �� � �� � � # ���� � �� "0 �
' �/ �� � ��� � � ��+ 
 �; � �� ��

[1] � �� -�& 1�� �
 � " � ��

[2] 5 / �� 0� � � "� ��

[3] � �/ �� $% �$�� 
� � � � �" � ��

[4] � � � �
 -� �
 �" � ��

  ����� The World Summit on sustainable 

development was held at : 

[1] Johannesburg 

[2] Kyoto 

[3] Rio-de-Janeiro 

[4] Copenhagen�
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����� ��� ��� �� �" � � B�PAR� �� 6�� �@ �� -# �� �
�

[1] * � � 0� � ��1; �� �0� � �� �� 50 � �� � �% � �� 
� � � �
�

[2] �� �� % �5 0� �0 �� � 50 �� � ��
 �� � � %� ��
� � � �

[3] * � � 0� � ��1; �� �0� � �� �� 50 � �� �)��& 1 �� � ��
�

[4] �� �� % 3/2 � �� � 50 �� � ��
 �� � )�� & 1�� � ��

  ����� In plant world, PAR is the 

abbreviation for : 

[1] Photosynthetically Active 

Radiation 

[2] Productivity Activation Radiation 

[3] Photosynthetically Active 

Response 

[4] Producer Activation Response�

����� �
 �
 ��� �� �� � ; �
 ��� � �� � ���� �� � �� ��� ' �# ��

 ��� � � �� � �� � � 2 0 ��� � �� � �-�/ ��� � � � � - �� - �� - �� - ��
� � �� �� �� �/ 
� ��� �� ���

' �� � � ; �
' �� � � ; �
' �� � � ; �
' �� � � ; �
 [A] : " �+ � �� G ��J" �� "�� � � � � ������
�� � �� �� ' 
  �� ); �� �-�� � �� -#!�

� � �@ � �� � �@ � �� � �@ � �� � �@ � � [R] : "� +� �� G� �J"�B� � �� ��� � �� � ��� ���
�� ��� 8 �@ �� � �� � �
 /� � � �
��
� ��� � �� � ��# � �� � � � � � � � �� ���
�� �� �� � =�� �-�� � � � -# � !�

� 2 0 � �� 2 0 � �� 2 0 � �� 2 0 � � ����

[1] A � �� �R � �� 
� � � �� D/ �-# � � '� #� �R, A � ��
� -� �)� 80 �� � @ �� -# �

[2] A � � ��R � �� 
 �� � � �D/ � -# � � �� 1� �R, A � ��
� -� �)� 80 �� � @ �� 
 -� � �-# �

[3] A � D/ �-# � �� 1�  �R ' �D /� -# �

[4] A ' � D/ �-# � �� 1�  �R �D /� -# �

  ����� Consider the following statements 

and choose the correct answer using 

the codes given below : 

Assertion [A] : Mycoplasma lacks a 

cell wall. 

Reason [R] : Mycoplasma are 

resistant to antibiotics 

that target cell wall 

synthesis. 

Codes : 

[1] Both A and R are true but R is 

the correct explanation of A 

[2] Both A and R are true but R is 

not the correct explanation of A�

[3] A is true but R is false 

[4] A is false but R is true�

����� �
 �
 ��� �� �� "� � � �� � � � # 
$�� � "  5� � � �� � �

 �+ 04 � � �
� �); � � �� � @ �� � �
� � �� ��� �� �� @ � �


 -� �
 -� �
 -� �
 -� � �� -# �. �

[1] S # � 1� / � [2] 5 �� � �� ���

[3] 5 �� & �0 4 ��% /" [4] � �� �� � � � /��

  ����� Which of the following is not a free 

living nitrogen fixing bacteria ? 

 

[1] Frankia [2] Klebsiella 

[3] Clostridium  [4] Beijerinckia�
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����� �
 �
 ��� �� �� � ; �
�� � � ( ' �� �� ; �
 �' �� �� ; �
 �' �� �� ; �
 �' �� �� ; �
 � A� ��� �
� � �@ � �� � �@ � �� � �@ � �� � �@ � � R,� ��� �� ��� � � � � � - � �� - � �� - � �� - � � �� �� � � ��

�/ 
� � � ��� � ��

' �� � � ; �
 �' �� � � ; �
 �' �� � � ; �
 �' �� � � ; �
 �(A) : CNG�����LPG� ���'�=���
� ��6���"�
�������-#!�

� � �@ �� � �@ �� � �@ �� � �@ � ����(R) : LPG� ���
 
$%�+$'�& 5��+%�
N��%L ��� -# � '�#�� +����
���6���@����[
�-# !�

[1] A� � �� �R �� � 
� � � �� -� �-# � � ' �#� �R, A�� ��
� -� �C /�� / �� -# ! �

[2] A� �� � � R �� � 
� � � � �-�� -# � � � � 1�  � R, A�
� � � �-�� C/� �/ �� 
-� �� -# !�

[3] A� �-�� -# �� � 1�  �R� �-�� 
 -� � �-# !�

[4] A� �-�� 
-�� � -# �� � 1�  �R�� -� �-# ! �

  ����� Consider the following statements 

(Assertion A and Reason R) and 

select the correct answer : 

Assertion (A) : CNG is considered 

safer than LPG. 

Reason (R) : LPG releases carbon-

di-oxide and is 

difficult to disperse. 

[1] Both A & R are correct and R is 

the correct explanation of A. 

[2] Both A and R are correct but R is 

not the correct explanation of A. 

[3] A is correct but R is not correct. 

[4] A is not correct but R is correct.�

�� �� � � & �"$� � & �"$� � & �"$� � & �"$I � �� � � � & �" $� � & �" $� � & �" $� � & �" $II � �� � " � ���� � � ����
� �� � 
 ��� � � �� � �2 0 �� � � � � � �-�/ ��� � � � � - �� - �� - �� - ��
� � �� �� �� �/ 
� ��� �� ���

���� � � & �"� � & �"� � & �"� � & �" ���� $ �$ �$ �$ �I � �& � "� �& � "� �& � "� �& � " ���� $ �$ �$ �$ �II 

(A) '� �@� �� ��
�� � 
� �A �

(i) Q/2 � � �

(B) � O� �@��� ��
�� � 
� �A �

(ii) �� & ����* �� � 
/��

(C) � O'� �@� �� �
�� � 
� �A �

(iii) 5� # "� %� � "�� 
���

(D) 0 4�+* � ��� � �
�� � 
� �A �

(iv) �5 0 ��� � �
��

� 2 0 � �� 2 0 � �� 2 0 � �� 2 0 � � 
 (A) (B) (C) (D) 

[1] (iii) (i) (iv) (ii) 

[2] (i) (iv) (ii) (iii) 

[3] (iv) (ii) (iii) (i) 

[4] (ii) (iii) (i) (iv) 
�

  �� �� Match Column-I with Column-II 

and select the correct answer using 

the codes given below : 

���� Column���� $�$�$�$�I Column���� $�$�$�$�II 

(A) Haplontic  

life cycle�

 (i) Fucus�

(B) Diplontic  

life cycle�

 (ii) Polysiphonia�

(C) Diplohaplontic  

life cycle 

 (iii) Chlamydomonas�

(D) Triphasic  

life cycle 

(iv) Ectocarpus 

Codes :����
 (A) (B) (C) (D) 

[1] (iii) (i) (iv) (ii) 

[2] (i) (iv) (ii) (iii) 

[3] (iv) (ii) (iii) (i) 

[4] (ii) (iii) (i) (iv) 
�
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����� �-� �� � ��� �� �
 ?��� �� � � ��� �� � �� -# �� �

�

[1] )���� ���A (–) ) ����� ��B (+) 

[2] )���� ���A (–) ) ����� ��B (0) 

[3] )���� ���A (+) ) �� ��� ��B (+) 

[4] )���� ���A (+) ) �� ��� ��B (0) 

  ����� Commensalism can be represented 

as : 

[1] Species A (–) Species B (+)�

[2] Species A (–) Species B (0)�

[3] Species A (+) Species B (+)�

[4] Species A (+) Species B (0)�

��!�� G/ �� � � �� � � �/ �� � �� ���� �� "� �� � @ ��2 > �� �� � ��
�� � / �� 16� -� �� �� -# !� G/� �� � �� " 2 ���� �
�� � �� �
 �� ��� � �� ���� � � "� � � " �0� * � �� ' �); � �� �� �
�" /� �� �
 � �DNA ' @ �  �-�� ��� � .�
�

[1] 8�

[2] 16�

[3] 32�

[4] 64�

  ��!�� The number of chromosomes in a 

somatic cell of onion is 16. How 

many DNA molecules are there in a 

root tip cell of onion during 

metaphase stage of cell division ? 

[1] 8�

[2] 16�

[3] 32�

[4] 64�

����� S # � 1� / �� O �� �� 
�+ 0 4 ���
� � ); �� �� � @ �� -� � �
�� � �� �� "2 � � �� �1; � � �' � � �� " � �� '� & 5� ��
 � � � "�� 
��
-�� � �� -# � ��

[1] -� 0 � �� � ��)0 �

[2] � � �-�" �� 9� �� �� 
�

[3] 
 �+ 0 4� � ��
� �L�

[4] -�� ��
�& +%�

  ����� The oxygen scavenging in Frankia 

induced root nodules for nitrogen 

fixation, is carried out by : 

[1] Heterocysts 

[2] Leghaemoglobin  

[3] Nitrogenase  

[4] Hopanoids �
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����� ����� 
����� ��� �� ���
 � "�� � �-��-��-��-�� �;�
� ���

�/
������!��

�����
�����������
�������-#���

[1] � �� � ' 
 �� 
� �����

[2] � �� � ' 
 � � � �
� ���� �

[3] � �� � ' 
 � �� 
 ���� �

[4] )���� 
 
 � �
 
 �� �� � �

  
����� Select the correct statement in 

reference to the pollen tube. 

Pollen tube exhibits :  

[1] Chemotactic movement �

[2] Chemonastic movement �

[3] Chemotropic movement�

[4] Thigmotropic movement �

����� �
 �
 ��� �� �� "� � � � � � � � # 
$��� �� � �" �80 � � ��

� @ �� 
 -��
 -��
 -��
 -�� � �-# � . �

[1] ' � /  � �� � �"%  

[2] )���� ��� ' 1/ �� 1/ �A / ��

[3] � �� ��
 ���  

[4] � 1"� � ��

  ����� Which of the following is not an 

attribute of a population ? 

[1] Age pyramid  

[2] Species interaction 

[3] Sex ratio 

[4] Natality  �

����� �� � 03� ��& �� � ��� � � �
� � �� )� ��� � � � � � �+ 
 � ��

; �� � ��

[1] ��& � �� �� 0 3�� � � ���& �� �� �W � O �� ��

[2] * � � "# 
B� ��� %
 
 � �� � �� ��# 1� �� 
� O �� ��

[3] � �W �' � �W � �� & �� � O � �� �

[4] ��& � �+ -��
 � �O �� ��

  ����� The Rivet Popper Hypothesis was 

proposed by : 

[1] Paul Rivet and Popper H. 

[2] Farman, Gardiner and Shanklin 

[3] H. R. Popper 

[4] Paul Ehrlich�
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����� RUBISCO � �� \ \' �& 5 ��� �
 � �]]� �A /��

' �� �� � �� �� �� -# ���

[1] C3 �A  

[2] C4� �A �

[3] CAM �A  

[4] C2� �A �

  ����� The 'oxygenase' activity of 

RUBISCO initiates : 

[1] C3 cycle  

[2] C4�cycle�

[3] CAM cycle  

[4] C2�cycle�

����� �� �� ���� � � �� �� ��
� � �� � � �@ �B�

0 4 �+ � �� %� �)" /" �-# � ��

[1] � � � ' ��� 
 �� �� �@ � �

[2] � �� % �� * � + ���� � �� �)/ �

[3] � �+ 
� � �# 5 0� � �

[4] � ��� ** 2 � ��

  ����� Trichodesmium, the cause of redness 

of Red sea is : 

[1] An archae bacteria 

[2] A Rhodophyceae member 

[3] A Cyanobacter 

[4] The Red mould 

����� �
�
������� "��� ��� ��#
$��� �#�'@� � �7;��� ���

���
�=�����/�������-#�.�

[1] I �� )� ��� �

[2] � ��9 

�

[3] % �W �� 
W � �W � �

[4] � � �/  �� � ��

  ����� Which of the following is the most 

abundant biomolecule on earth ?  

[1] RUBISCO  

[2] Lignin 

[3] DNA  

[4] Cellulose �



 ������� ������

��	�
��
���� � ���������

�� �� �
 �
 ��� �� �� � ;� 
� � �� �� � � �� �� � � �� �� � ��� �

 ��� � � �� � �� � � 2 0 ��� � �� � �-�/ ��� � � � � - ��� - ��� - ��� - ��
� � �� �� �� �/ 
� ��� �� ���

' �� � � ; �
 �' �� � � ; �
 �' �� � � ; �
 �' �� � � ; �
 �(A) : � �� �I � � � � � ��� 6��
' � �� � �8 [� � �� � � � � �� ���
� " � � � �� � 
�� ��� � �� � � "�
' �� � 
 �� � / 5 �� -�� � �� -# !�
�

� � �@ � �� � �@ � �� � �@ � �� � �@ � �(R) : ' � �� � �8 [� �O � �/ ��
� �� �� /�� �� �; � 
 � �� �� -�� �
� � �� � -# � �� � � 0 �+ � �� �� � �
/  5 � �-�� � �� -# ! �

� 2 0 � ��� 2 0 � ��� 2 0 � ��� 2 0 � �� ����

[1] A � �� �R � �� 
� � � �� D/ �-# � � '� #� �R, A � ��
� -� �)� 80 �� � @ �� -# �

[2] A � � ��R � �� 
 �� � � �D/ � -# � � �� 1� �R, A � ��
� -� �)� 80 �� � @ �� 
 -� � �-# �

[3] A � D/ �-# � �� 1�  �R ' �D /� -# �

[4] A ' � D/ �-# � �� 1�  �R �D /� -# �

  �� �� Consider the following statements 

and choose the correct answer using 

the codes given below : 

Assertion (A) : Heartwood is less 

susceptible to 

fungus and contains 

less moisture than 

sapwood. 

Reason (R) : Heartwood stores 

secondary 

metabolites and 

have tylosis. 

Codes :   

[1] Both A and R are true and R is 

the correct explanation of A 

[2] Both A and R are true but R is 

not the correct explanation of A 

[3] A is true but R is false  

[4] A is false but R is true�

����� ��� ��� � � " � � � � �� "� � ��� � -
� � � � � � �� � 
� " � �� ������������ �
� ; � 
�� �� �/ 
�� � ��� � ��
�

[1] + �� �� � A /� � �� � ���� � ��� � 8�� �P� �� �
�� �� 0 �
 �� � �� �� ' �� �/� �� �-�� � �� -# !�

[2] / -� \% �� 
� -� ]� �� �� -
� -# ! �

[3] + �� �� �A / �� "� � � �� �� -
 � �� �7 G �� -�� � � �� � �
-# !�

[4] / -� ' � � @� �D" � � �� � A / �� -# !�

  ����� Select the incorrect statement 

regarding facilitated transport in 

plants : 

[1] Special membrane proteins are 

required for the process. 

[2] It is a downhill transport.�

[3] In this process, the transport 

saturates. 

[4] It is a non-selective process.�



����� �������

��	�
��
���� � �

��!�� � � & �"$� � & �"$� � & �"$� � & �"$II " ��� � �� � ��� ��� �� � "� � � ' �� �6�� �

�6� @ ��� ?�� ' 
  �� �� � �� � � � & �" $� � & �" $� � & �" $� � & �" $I "�� � � �� 
�� 
 80�

� 
� � � �O � �� � � �
 � �� � � ��� �� � �); �� �� � � �

� " � �� �� � ���� �� �

� �& � "� �& � "� �& � "� �& � " $$$$I���� � � & �"� � & �"� � & �"� � & �" $$$$II 

(A) �� ��� �� � �� ����� (i) 9 : 3 : 4 

(B) '�� ��� �� � �� ���� (ii) 9 : 3 : 3 : 1 

(C) �2 �� � ��
 (iii) 12 : 3 : 1 

(D) � �� +
 '1 /� �1/� A /��


 -� � 

(iv) 9 : 7 

� 2 0 � �� 2 0 � �� 2 0 � �� 2 0 � � ����

 (A) (B) (C) (D) 

[1] (i) (ii) (iv) (iii) 

[2] (iii) (i) (iv) (ii) 

[3] (ii) (iii) (i) (iv) 

[4] (iv) (i) (iii) (ii) 
�

  
��!�� Match the expected phenotypic 

ratios (Column-II) in progeny from 

dihybrid parents with the conditions 

specified in Column-I : 

Column-I Column-II 

(A) Dominant 

epistasis  

(i)   9 : 3 : 4 

(B) Recessive 

epistasis 

(ii)  9 : 3 : 3 : 1 

(C) Complementary 

genes 

(iii)  12 : 3 : 1 

(D) No interaction (iv)  9 : 7 

Codes : 

 (A) (B) (C) (D) 

[1] (i) (ii) (iv) (iii) 

[2] (iii) (i) (iv) (ii) 

[3] (ii) (iii) (i) (iv) 

[4] (iv) (i) (iii) (ii) 
�
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